B ERICETSL R (ERLESE) R &R R

SHBESAREL
EEHREAE
MR RH weg | EBEE |F-hSqE AREE | UofdY | Ehhbl | BRhsL | BREER| n %
= R 5 W

SHI3E 15 1 1 0 0 2 0 0 0 0 0
EREE

SH24E 15 2 2 1 0 1 0 1 1 0 0

SHIE 16 2 2 0 0 2 0 0 0 0 0
T R _

SH24F 16 0 0 0 0 0 0 3 1 0 0

SHIBE 10 1 1 2 0 0 0 0 1 0 0
FEER |

SR 15 1 1 0 0 3 0 0 1 0 0

2HI3E 41 1 1 2 1 1 0 0 4 0
3 0 G : L

K24 46 0 0 1 0 4 0 B 5 1 0

SH3E 9 2 2 0 0 0 0 0 0 0 0
[T 3 X 1 Ef

SHI24E 12 1 1 0 0 0 0 1 0 0 0

R ERIZCBIT S X&E A= 2 E R R
- SMIFSRBEE
% = & & 3 &
B % (WEL) | A W (HEFD) | B 8 (KEE) | A B (REFH) | # B (REEE) | A B (FEEH)
O K 0 0 0 0 o | o 0 0 | -5 9 -6
Sy R 0 0 0 0 0 0 0 0 +4 1 +7
B %K 1 +1 1 +1 0 0 0 0 11 -3 13 -3
25 %R 1 0 1 ) 0 -1 0 -1 34 =7 M -9
R R 0 0 0 0 0 0 0 0 8 +1 9 +1
9

—EEKRSE
R ERN

R4

B BUBABER 1 1 0B~EHOHES I YLE9110




